151 BB

(B ) 1. BRTFASEE GEEE? A)lino—2 21 @) 1m0 5 )iim 22" g
nso 5N n—><>on2 5n-1 n—o 5n—1
(D) limn—+/n2-1=1 - (99 21 C #)l ]
SOL.1.(A)ﬁﬁ22m[(g)n—(é)n]:O—O:O °
(B)FT>k=0 -
(C)FfiK = °°1
(D)ﬁﬁ?hm(” 2 —(n+n? - D i MG D i !

n+/n2 -1 o nidnZ 1 nosnen? -1

( A) 2 mEREL sy i Y

3 22 P 24 I 22k 32K+l
41 59 5 7 X
A— (B)= (€)= D) - (99 & C #Al]
()24 ()24 ()2 ()2 :
1
1 1 1 1 3 4 3 41
SOL.2.Ff3K = (l+—+2—4+ Foa )+(§+3—3+ +32k+1+m):1_—i+1_—1:§+§:£
22 32

( C ) 3. BEEESLEARE0.4) +(04)%+(0.4)°%+..+ (04)"+..HMNB a - MESLERH
(0.2) + (0.2) + (0.2)% +..+ (0.2)" +..F9F1 & b - EU%: ?
(A)% (B) 2 (C)% (D)4 - (100 &1 C #1]

SOL3. a=2% 2, ,_ 02 1 a_ 248,
1-04 3

2n2+1 2n2+n+2

( D) 4. #FKlim( e YZE=? (A0 (B)1 (C)2 (D)3- [105% C #Hl]
SOL.4.FF3K = (2n2+1)(n+2) (2n2+n+2)n (2n3+4n2+n+2)—(2n3+n2+2n)
n_>oo n(n+2) nﬁoo nZ+2n
3nZ-n+2 3

=lim =—=3 °
now  N242n 1




( A ) 5. ET%ilimlzn:(HE =7 (A)§ (B) 1 (c)1 (D)lo (108 21 C #7I]
n—» N3 n 2 2 8

n(n+1)

SOL.5. Zn:(1+E):(1+£)+(1+E)+(1+§)+---+(1+E)=nx1+1+2+34+n —n+—2
n n n n n n n

k=1

n+1 3n+1
=N+——= g
2 2

SR = lim(Ex 30ty _ jm 30tL 3
n—o N 2 n—>w 2N 2

2 A R BIHITE S

(CD) 6. 3 f(X)%a bl EA—EERY - Heba<b - BITFIRRLES 2
™| b f(x)dx =] * f (x)dx
(B)I:kf(x)dx:kj:f(x)dx  HobkBTEEH

C)Za<b<c Euj:f(x)dx:j:f(x)dx+jcbf(x)dx

bn+1 _ an+1

(D) [ *xnax = HPn BEERY - (99 B C #:3]

SOL.6.(C)Za<c<bAAII > (D)En=-17F I -

(A )T728F(X)=2x-1 'Ef"(x)?%f(x)ﬁ’\J:B%EIZI%Z'Eﬂjlsf"(x)dx:?

=2 1 ol 2, ]
A5 @5 ©; O [100 £ C #58)]

1

1
SOL. 7. f(X)=+2x-1=(2x-1)2 - f’(x)=%(2x—1)7x2: !

J2x-1 Y

[ZH70dx= 0 = £68) - 1) =%_1 =_§ :

(A) 8 EEBIQOWIRUAF(KX)=3+6x BT (1)=3 A f(x)dx ZEHMT ?
(A)10 (B)12 (C)14 (D)20 - (101 21 C #Al]

SOL.8. f'(x)=3x2+6x= f(x)=x3+3x2+c - f()=3=4+c=3=c=-1 "

L) =x3+3x2 -1 -
2fxdx— 2x3 3x2 —1)dx —(lx4+x3—x)2
[, FOgdx=] (e +8x2 -k = (5

=(4+8-2)—(0+0-0)=10 -
0
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3
5K 2 5 X—2 =7? 9_7 4_9 E @ ° 47530
) 0 F[LgePe? Mg @ OF OF - LencHE)

3 9 27 1 1 1. 2 .
=+ ) (=) =2
1216 720 C 2 16 720 9
2

3
2

3
P X X2 X2 X3
SOL.9. J._Z;(l+5+?)dx = (x+7+3)

) 10. BBf(x)=2x*-3 - g(x)=3-x*" EUE%%I;U (X)—g(X)]dx ZE&B ?
(A)0 (B)18 (C)42 (D)54 - (103 21 C #7281 ]

SOL.10.f (x) —g(X) =(2x*—3) - (3-x?) =3x*-6 -
ﬁﬁﬁézj;(sxz ~B)dx = (x*-6x) [, = (27-18)—(-27+18) =18 °

)y 11. 22]_2(1—2x)(1+2x)dx=? (A)-66 (B)-33 (C)33 (D)66- [104 £/ C %Al

3
SOL.11.Fr3K = jf3(1—4x2)dx = (x—%x3) = (3-36)—(-3+36) =—66 °
-3

) 12, wREES [|x-1aZE? W2 @) © ©F - [105HCHN)

SOL.12. fisk=|?| 2x—1|dx+ji|2x—1|dx :ji(l—2x)dx+ji(2x—1)dx = () 2+ (2 =0 [}
2 2 2

11 1 1. 17
=G-P-(1D+O-9-(-) =5

) 13. BEWBSEREY - = [ f(0dx=1" [ f(9dx=4B[ f(x)dx=2 -
Eujf’f(x)dx: ? (A)1 (B)3 (C)5 (D)7° [106 & C %81 ]

SOL.A3. [ t(xdx=] f(xdx+ ]  f()dx =1=[ f(x)dx+2= [ f(x)ax=-1 -

jff(x)dx:jff(x)dx+j25f(x)dx = _1+4=3>

) 14. j_°4|2x+5|dx:? (A)% (B) 8 (C)% (D)4 - [107 £ C %38 ]

5 5
Sol.14. ji|2x+5|dx:j742|2x+5|dx+J05|2x+5|dx=I74z(—2x—5)dx+j05(2x+5)dx
-3 "3
; 25 25 25 25 17

= (2 =Bx) | 4 (¢ +5x)|fg =5+ D)~ (16+20)+(0+0)~(F-T) =T ¢
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( D )15 E%HF(X):%[J.lx(tZJrl)dt]-EU F(1)=?

(A)-1 (B)0 (C)1 (D)2- (108 21 C #2I]
Sol.15. flx(t2+1)dt=(%t3+t)I:%x3+x—% F(x):%(%xhrx—g):x%l
F)=1+1=2 °
(4-3 ) #5HmER
( D )16. REf(x)=1-x*HEFE x SERER0, 2]fEEEEERM ?
(A)—% (B)% (C)% D)2 - [98 & C #58l]

2
o0 U x

:

!

]

!

!

Sol. 16.  f(x)=1-x2 =—(x2-1) =—(x+1)(x-1) -

8

PSR = [ 1)k [ [k = (x5 x) ~[0-2)-(0-0)]-[2-)--3)]

1 2
—(X—EXB)
0 3 1

2 4
= —(—— :2 °
3 ( 3)

( B ) 17 KMEFT - REHS ZEESE ? (A)% (B)g ©) 1 (D)%" [100 8 C %3 )

y=x2 \
>x2=x+2=x2-x-2=0=>x=218-1 -

soL. 17. {
y=X+2

0

ﬁﬁﬂ?:lxlxhjoxzdx =1+1X3 =
2 -1 2 3

-1

124



( C )18. BHy=fXEx-2y=0HRXRE2, 1) (6, 3)ME - MNEFT~ - B2FIN E’Jﬁ%st'j E

j f(x)dx = —= 3 EJj f(x)dx=? (A)7 (B)8 (C)9 (D)10- [102 & C %A ]

y
x-2y=0
(6,3)
A(2,1) x
°/ i
y=f(x)
61 16 1 |° 16 40
SOL. 18. j [f(x)——x]dx_ j f(x)— j—xdx_ j f(x)— +] 5 =?+Zx22:€+8:?'
6 13 40
jof(x)dx:jof(x)dx+j2f(x)dx =gt =0

( D ) 19. EEy:—X—22+x+1 y=1HMx=0 FTERNES - IEFREFED - RltENEEA T
BE = K1g ? (A)j (——+x——)dx (B)j (—— ——)dx (C)j (——+x+—)dx
1
(D)j0(7—x+§)dx . [104 21 C #:30]

S0.19. k=[x ek = [ o -x+ Dok -

( D )20. FBog(x)=2x-1"  SHERERB[-1, 1]tf(x)21EL_|.1 f(x)dx=5 - BULCAVHIAR

y=f()Ey=gx)ERAGERE[-1, 1]PTEREHNEE ST ?
(A)4 (B)5 (©)6 (D)7 (109 & C #I ]

S0l.20.-1<x<1=>-2<2X<2=>-3<2Xx-1<1 . -1<x<1H(F-
—3<g(¥) <1 f()=1>9g(x) - oA f (X)BEFE gx)pI L7 -
PSR = jfl[f(x)—g(x)]dx :jfl f (x)dx—.[:g(x)dx '

2 [ gt ' x-s =02 0, 2
CFTR=5-(-2)=7"
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